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ECONOMICS
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(Quantitative Techniques—II)
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Time—Two Hours Maximum Marks—40
N.B. .— (1) Attempt A/l questions.

(11)  All questions carry equal marks.

(i1  Use of calculator is permitted.
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1. Explain the types of errors in testing hypothesis. 10

TRIqhre Avidid fagHe TR T H.
Or
(fenam)
A machine produced 20 defective articles in a batch of 400. After overhauling

it produced 10 defectives in a batch of 300. Has the machine improved ?

400 =1 T T FAGR 20 HIW TH IR HIUAN 3. I TEAHAR 300
= TH GRS 10 T_Y TN IR HIaM STl I3 GHROT el 378 e ?

P.T.O.

0D56F35D48BEA 75B55C10105A7275B62



WT

( 2 ) A—336—2018
What is the Chi-square test ? State the conditions for applying it. 10
FE-THSR AU WS A 7 O ARG $TE |
Or
(fenam)

In an agro-economic survey the following information about the tenancy

status of cultivation and use of fertilizers of 1000 randomly selected field is

collected.
Particulars Owned Rented Total
Using fertilizers 416 184 600
Not-using fertilizers 64 336 400
Total 480 520 1000

Would you conclude that the owner cultivators are more inclined towards the

use of fertilizers at 5 percent level ?

(For V.= 1, %2, =3.84)

T Hi-Th TR0, 1000 IAgTeshan FHeagaed
9 EAreA ATafaeEE] Hifgd! ©ieiial THTl Hehfad shololl T8 :

-~

I, ANTES N dfgene

fereroT Tt =T SIEDIR] Tl
HTetehiet

Gl IR HE 416 184 600

TAMET A T Al 64 336 400

THI 480 520 1000
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3Rd 3Tdl fehdl 379U wEeT hrE ?

(V=19E %2 . =384)
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( 3 )
State the uses of ANOVA table.
3@ qERAT™ START |
Or
(feam)

A—336—2018
10

The three samples below have been obtained from normal populations with

equal variances. Test the hypothesis that the sample means are equal :

X, X,
08 07
10 05
07 10
14 09
11 09

(FOI’ Vl = 2 and Vz = 12, F005 = 388)

X3
12
09
13
12
14

HAM TR0 A WE e W sheled o9 THA @eiled THON STRd. AT

e HAM SARd § TEIAe qUrEl

X, X,
08 07
10 05
07 10
14 09
11 09

(V; = 2 30 V, = 12 &1 F 5 = 3.88)

X3
12
09
13
12
14
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4. Write short notes on (any two) : 10
(1) Type II error

(11) One-way classification

(i) A person throws 10 dice 500 times and obtains 2560 times 4, 5 or 6.
Can this be attributed to fluctuations of sampling ? (SE( o5 = 1.96)

(iv»  In a hospital 480 female and 520 male babies were born in a week.
Do these figures confirm the hypothesis that male and female babies
are born in equal number ? (SE( g5 = 1.96)
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(if)  TH FH 10 3hes 500 Fedl sl 3T 4, 5 fohal 6 T 2560 I U
. 3T THATAT FE3aNHes el 38d & ? (SE o5 = 1.96)
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